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UG/3rd Sem/G/20(CBCS)

2020

CHEMISTRY (General)
Paper : CEMG-DC-T3/GE-T3

(CBCS)

Full Marks : 25 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

1. Answer any five questions : 1×5=5

(a) The property, which can be classified as an intensive property, is —

(i) Viscosity

(ii) Entropy

(iii) Volume

(iv) Free Energy

(b) An example of state function is —

(i) Heat

(ii) Work

(iii) Internal energy

(iv) entropy

(c) Which is buffer solution?

(i) NaOH and HCl

(ii) Carbonic acid and Acetic acid

(iii) H2SO4 and NaOH

(iv) CH3COOH and CH3COONa
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(d) Which of the following is an organometallic compound?

(i) MgBr2

(ii) H3C-Li

(iii) C6H5COONa

(iv) C6H5Cl

(e) Which of the following will not give iodoform test?

(i) CH3CH2OH

(ii) CH3CH(OH)CH3

(iii) CH3CH2CH(OH)CH2CH3

(iv) None of them

(f) Which of the following will have the slowest rate of reaction with Br2/
FeBr3?

(i) Benzene

(ii) Toluene

(iii) Anisole

(iv) Nitrobenzene

2. Answer any four questions : 2×4=8

(a) What do you mean by methyleted sprite?

(b) Expansion of a gas against zero pressure is reversible or irreversible -
Explain the process with proper reason.

(c) Write down the Le-Chatelier’s principle and its application.

(d) Explain whether the same result can be obtained by heating CaCO3 in open
space and confined cell.
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(e) Why does benzene participate more easily in electrophilic substitution
reactions than in nucleophilic substitution?

(f) Complete the following reaction :

2 2/
3 2 ? ?P I AgNOCH CH OH  

3. Answer any two questions : 6×2=12

(a) Convert the following : 3×2

(i) CH2 = CH – CHO   Glycerol

(ii) C2H5 – OH   CH3 – CH = CH2

(iii) Nitrobenzene  Chlorobenzene.

(b) (i) Alcohol is less volatile than ether of the same molecular weight —
explain. 2

(ii) Why does the ice melts more rapidly when the pressure on ice
increases at constant temperature? 2

(iii) What happens if PCl5 is added in Benzaldehyde? 2

(c) (i) The solubility of magnesium hydroxide and calcium phosphate at 298K
are S and S'. Then what will be their solubility product at the same
temperature. 3

(ii) Write a short note on “Remormatsky Reaction”. 3

(d) (i) Predict the product and mention the name reaction. 2

R

R’
O 3 2 ?PH P CH   
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(ii) Why acetylene is more acidic than ethylene? 2

(iii) Write the limitations and application of Ostwald’s Dilutions law? 2

îDy %̃îy”

!î¦þy† éôé „þ

1. öë ö„þyöì̃ y þ™¤y‰þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 1×5=5

(a) ö„þy˜!Ýþ xîßþiy˜†“þ •›ÅÚ

(i) ¢yw“þy

(ii) ~˜ÝþÆ!þ™

(iii) xyëû“þ˜

(iv) ›%_« Ÿ!_«

(b) xîßþiyîû xöìþ™Çþöì„þîû ~„þ!Ýþ vþz”y£îû’ £öìœy éôôôé

(i) “þyþ™

(ii) „þyëÅ

(iii) x¦þÄhsþîû#’ Ÿ!_«

(iv) ~˜ÝþÆ!þ™

(c) ˜#öì‰þîû ö„þy ä̃!Ýþ îyšþyîû oî’Ú

(i) NaOH ~î‚ HCl

(ii) „þyîÅ!˜„þ xÄy!¢vþ ~î‚ xÄy!¢!Ýþ„þ xÄy!¢vþ

(iii) H2SO4 ~î‚ NaOH

(iv) CH3COOH ~î‚ CH3COONa
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(d) !˜Á¬!œ!…“þ öëï†=!œîû ›öì•Ä ö„þy˜!Ýþ •y“þî ÷‹î öëï†Ú

(i) MgBr2

(ii) H3C-Li

(iii) C6H5COONa

(iv) C6H5Cl

(e) !˜Á¬!œ!…“þ öëï†=!œîû ›öì•Ä ö„þy˜!Ýþ xyöìëûyöìvþyšþ›Å !î!e«ëûyëû ¢yvþüy ö”ëû ˜yÚ

(i) CH3CH2OH

(ii) CH3CH(OH)CH3

(iii) CH3CH2CH(OH)CH2CH3

(iv) ö„þyöì̃ y!Ýþ£z ˜ëû

(f) ˜#öì‰þîû ö„þy˜!Ýþîû ¢yöìí Br2/FeBr3 ¢îöì‰þöìëû •#îû†!“þöì“þ !î!e«ëûy „þöìîûÚ

(i) Benzene

(ii) Toluene

(iii) Anisole

(iv) Nitrobenzene

2.  öë ö„þyöì̃ y ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 2×4=8

(a) !›!íöìœöìÝþvþ !ßþ™!îûÝþ îœöì“þ „þ# öîyGþÚ

(b) Ÿ)˜Ä ‰þyöìþ™îû !îîû&öìkþ ~„þ!Ýþ †Äy¢öì„þ ¢Á±¢y!îû“þ „þîûy £öìœ ²Ì!e«ëûy!Ýþ þ™îûyî“Åþ ˜y
xþ™îûyî“Åþ „þyîû’¢£ îÄy…Äy „þîûÐ

(c) œy ¢Äyöì“þ!œëûyîû ˜#!“þ!Ýþ ç îÄî£yîû öœ…Ð

(d) CaCO3 ö„þ ›%_« ßþiyöì̃  ç xyîkþ ²Ìöì„þyöìÜT vþz_® „þîûöìœ ~„þ£z šþœ þ™yçëûy ëyöìî !„þ
îÄy…Äy „þîûÐ

(e) öî˜!‹˜ !˜vþz!„Ïþëû!šþœ#ëû ²Ì!“þßþiyþ™˜ xöìþ™Çþy £zöìœ„þöìÝþÆy!šþœ#ëû ²Ì!“þßþiyþ™˜ !î!e«ëûyëû
¢£öì‹£z x‚Ÿ ö˜ëû ö„þ˜Ú
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(f) !˜Á¬!œ!…“þ !î!e«ëûy!Ýþ ¢Á™)’Å „þîû ­

2 2/
3 2 ? ?P I AgNOCH CH OH  

3. öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 2×6=12

(a) îû*þ™yhsþîû „þîû ­ 3×2

(i) CH2 = CH – CHO   Glycerol

(ii) C2H5 – OH   CH3 – CH = CH2

(iii) ˜y£zöìÝþÆyöìî˜!‹˜  ö„Ïþyöìîûyöìî˜!‹˜

(b) (i) ¢› xy’!î„þ ç‹öì̃ îû £zíyîû xöìþ™Çþy xÄyœöì„þy£œ=!œ „þ› vþzmyëû# éôôôé îÄy…Äy „þîûÐ
2

(ii) !ßþiîû vþz¡Œ“þyëû îîûöìšþîû vþzþ™îû ‰þyþ™ î,!kþ „þîûöìœ îîûöìšþîû †œ˜ xyöìîûy öî!Ÿ „þöìîû
‡öìÝþ ö„þ˜Ú 2

(iii) öîOyœ !vþ£y£zöìvþ PCl5 öëy† „þîûöìœ !„þ ‡ÝþöìîÚ 2

(c) (i) 298°K éôé “þyþ™›yeyöì“þ ›Äy†öì̃ !¢ëûy› £y£zöìvÈþy:y£zvþ ~î‚ „þÄyœ!¢ëûy› šþ¢öìšþöìÝþîû
oî’#ëû“þy £œ S ~î‚ S'– ~„þ£z “þyþ™›yeyëû “þyöì”îû oî’#ëû“þy =’šþœ „þ# £öìîÚ

3

(ii) ¢‚öìÇþöìþ™ öœ… ­ “Remormatsky Reaction”. 3

(d) (i) !˜Á¬!œ!…“þ !î!e«ëûy!Ýþîû ˜y› ç vþzêþ™§¬ þ™”yíÅ!Ýþ öœ…Ð 2

R

R’
O 3 2 ?PH P CH   

(ii) xÄy!¢!Ýþ!œ˜éôé~îû xÁÔc £z!í!œ˜éôé~îû ö‰þöìëû öî!Ÿ ö„þ˜Ú 2

(iii) x¢çëûyöìÓþîû œ‡%„þîû’ ¢)öìeîû ¢#›yîkþ“þy ç ²Ìöìëûy† vþzöìÍÔ… „þöìîûyÐ 2

——————


